eI 2 YPAAF Wol & Tt
w

@ 41V2 @ 42VZ2 @ 43V2
@ uvi )52

0% 10 x sin 45° = 9 x 10 x Y2
=452




2. TS 139 AABC O Hol=?

® 7V2cm? @14\/§cm2 ® 21v2cm?
@ 282 cm? ® 56 V2 cm?

1 3
5 X Tx8xsind5® = 28 ‘/7_ = 14V2(cm?)




AABC A AABHh: 180° - /B
sin(180° - /B) = — o|2.2
h =0 x sin(180° — /B)

1 1
.. AABC = §ah = iaEl sin(180° — /B)

\_a__f’

AABC 9|4 /ABH = 180° - /B

sin(180° - /B) = —

olm g
h = ¢ xsin(180° — /B)

1 1
w2t AABC = Eah = §ac sin(180° — /B) °|t}




s

the 179 4P WolE 8 7

@ 24cm? @ 24V2cm?
@24 v3cm? @ 48cm?
® 48V2cm?

AABC = — x AC x BC xsin(180° — 120°)
V3

:—><12><8><7
= 24V3(cm?)

=N | =

[\V]




U2 A Fol A Yo/t & iRz 5 &
2 AArgict)

1 1
= -_— 4 _——
@S 5 X ><7><2 7

1
@S =5x4x3=6

1
@S =5 x4x3=6

1 3
@S:§x6x4x ‘é_

6 V3 = 10.392

V3 253
2 T 4

=10.82
2 0.825

1
@S:§x5x5x




6.

D 48v6 @ 485 @48«5 @ 482

~&B

(AABC) = L oaxs V3 x sin 30°

1
= —X24Xx8V3xX =
5 X 24X \/_><2
=483




t}e 123} Zro] &= tjztAlo] o
E ABCD 9] ¥o]7} 36 V2em? & o,

@ 8cm @ 10cm @12cm

B

@ 14cm

® 16cm

1
xxxxEXsin45:36\/§

« V2 _ 56y
2

x2 =144

x=12 (cm)

x2 %

l\.’:l»—A




the 227 22 474 ABC ¢ Wol730v3 & W, AB ¢ Zel?

A

AABC = = x AB x 12 x sin 60° = 30 V3

| =

6XEXT3 =30V3
oA AB = 10 o]t}




oS 219y e A4y
ABC 7} Qitt. ¥lo]7} 36cm?
o of, BC 2] Zoj=?

213
5
® 225\/5
3 235«/3

ORI
5 20 V3

@

cm

cm

cm

cm

5

%xlemxsin60°:36

— 1 _2vV3 243
BC—36X2X1—OXT—T(CH1>




10. o2 2FfA AABC 9] Hol7} 50 V3em? & uf, x o] ZHe?

@20cm @ 2lcm ® 22cm @ 23cm ® 24cm

B

1
50V3 = 5><x><10><sinﬁ0°

1 V3
=z 10 X —
2><x>< X B
5V,
2

. x = 20(cm)




@ (D12(2)18V3 @ (1)12(2)20V3
@ (1)14(2)20V3 (@)(1)15(2)20\/5

® (1)14(2)18V3

1
(1) = x 10 x 6 x sin 30°

[\)

1
1><10><6><§:15

% 20 X 4 X sin(180° — 120°)

:%x20x4><sin6()°

:%x20x4x‘/7§:20«/§

DN | =




12.

@ (1)12,(2)12V3
@ (1)14,(2)9V3

1
(1) (Hel) = 5 X 4x14xsin30°

1 1
= —X4x14dx-=14
2 2

1
(2) ("o]) = = x2x 10 x sin(180° — 120°)
= 5><2><10><sin60°=5«/5




13.

e 78y e PPAIAY _---6ecm---_

ABCD o4 BC ¢] £8< Mo] 5 -
2} 512 AB = 4cm, AD = 6em,
(D =60° <Y o], AAMC 2] Ho]

=7
® 2v2cm? @ 4+v3cm? ®)3 V3 cm?
@ 6+3cm? ® 6v2cm?

OABCD & FPAtHGPe|nz
BC = AD = 6cm , /B = /D =60°

- (AABC 9] Hol)= % X 4 X 6xsin60° = 6V3(cm?)
9], AAMC = % AABC o|E &2

AAMC = % X 6 V3 = 3V3(cm?) o|t},




14.

th 1E 7 22 BPAREF ABCD ollA tiZHd AC,

BD o &

o
=

O &1 sk /BCD = 60°, AD = 12cm, CD = 6cm € T, AABO

o] gol& Fohu?

A/,-lZcm—\\D

Ol

B C

® 9cm? @ 10cm?
@9x/§cm2 ® 10V3cm?

® 9v2cm?

B

(DABCD9] Y ©°]) = 12 X 6 X sin 60°
V3

= 12x6x -
=36V3 (cm?)

o AABO:36\/§X}L:9\/§ (cm?)




15. & a9 o] /B =75° AB = AC = 6cm ¢! AABC 2] Ho|=?

@ 6cm? @ 6v3cm? 3®)9 cm?
@ 9+v3cm? ® 12V3cm?

AABC £ o]eHAZtgolB=E /B = /C=75°
w2bA] ZA = 180° — (75° + 75°) = 30° ©| L,

AABC = % X 6 % 6 x sin 30° = 9(cm?) ©]t},




